C1

The storm by the meteorologists.
Answer:

The crops by the heavy rain.

Answer:

The roads due to the snowfall.

Answer:

The beach because of the strong winds.
Answer:

The town this morning by a thick fog.
Answer:

The trees during the hurricane.

Answer:

The picnic because of the thunderstorm.
Answer:

The football match because of the lightning.
Answer:

The flights due to the poor visibility.
Answer:

The school early because of the blizzard.

Answer:




Answers

The storm by the meteorologists.
Answer: was predicted

The crops by the heavy rain.
Answer: were flooded

The roads due to the snowfall.

Answer: were blocked

The beach because of the strong winds.

Answer: was closed

The town this morning by a thick fog.

Answer: was covered

The trees during the hurricane.

Answer: were uprooted

The picnic because of the thunderstorm.

Answer: was canceled

The football match because of the lightning.

Answer: was postponed

The flights due to the poor visibility.
Answer: were delayed

The school early because of the blizzard.

Answer: was closed



